|}

Tl

T
AX

I

e G

Baid

E B AR 7 R HNEXEBEL (B3
BRI A e or
L
% it & # .
L 2 Af 07 &HE 12 A 26 H Ry
x it M #H

EA Y (CEHED) A=10, 634m2

BAY (D) A=11, 284m2
A A A 06410 H A4t
HAAf i FH 4 AFN0T4E04H 01 A £+ ERA-233




$
>

i *

~

¢

7\
2

# H - L M - f B - M A #oOR M B ff & A 7 5 5% i
gz
1K
B ETCH
1K
BT
1K
aaf
1K

e




X B Z it B N R F

# B - L M - fE B - M H 2e s BT HL il 4 #H I AT 2 pee #e
FXZEH
1 =
XY
SEHIER
10, 634 m2
XY
T
11, 284 m2
i@ E A BB
37 | AH
WSy
A1 BESEM ALy
19, 810 kg
BB ER
1 =
SEG M REGEEE (T 1ED)
1 =
SEVSAS
1 =
VB BLAH 4 %H
1 =
4t

i




